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% (Q,.7,P) RMEEN, 9 C.F RT o-3. HERYLA !
LUF)={X € L%Q): X & F-a[lK},
LAY = {X € L%0) : X 5& 9-n[i}.
LRI R X ¢ 22(9), Rl X £ ¢-7[lK), I8R5 ¢ ¢ .Z, J
X (%) CcY9 C.Z,
MM X —E R Z- ), XU T 22(9) ¢ LA(F). 20 L%(7) L T HIR

(X,Y) := (/QXYd]P’)2 = VE(XY), VXY e 2*Z),
M (L*(F), (+,+)) A Hilbert Z5[8]; FHENR (-, -) BRTEEL
X[ = V(X,X) = VE(X?), VX e ZL*(ZF).
15 L2(9) b, I AH A YRR RNTE 2L
£ Lmmic S et b, BRI E X ¢ 22(F), Hid X KT 9 HEHEER
E(X|9). i€ LM E(X|9) € LX(9). xR, TATKRUH: E(X|9) 525 FE X 7E23H
LG LB, NI E(-|9) 525 LRI £2(F) B0 L4(9) M.

o) E(X|9) £2(%)
1: W 22(F) B0 22(9) (R

L T LT K AT SR 0 ORI AP (W Jensen AR, BRI IR SAOE BESE).
VEIX B R A2 AT RS (], RN TSI AT EA A AR,
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W 0.1. % X € L%(F), 9 CF AT o3, MEX|Y) € L2YD).
MERR. AR E XA E(X|9) 5& 9-AT). SURYE X € 22(F), B &I Jensen A5
{15

E[E(X|9)’] <E[E(X*¥9)] = EX® < +o,

EAERE T E(X|9) € 2%(9). O

I3 0.2. X X,Y & (Q,.7,P) LM EE, X & G-7TNay, WA
E(XY|9) =X -E(Y|9).

WERR. (D) %, W X =1, HP Be 9, SHEEK C e 9, 13238 BN C € 9, Kt
/ IgYdP = / YdP = / E(Y|9)dP = / I -E(Y|94)dP,
C BNC BNC C

AR T E(IpY|F) = Ip - E(Y|9);
@) Hok, ¥ X R G- S B R b A R, H

X = an : ]{X:xn}a

n=1

Hrpz, >0n>1), E{X:xn}e%,wﬁ
E(XY|9) = an (Iix—ey Y |9) an Iix—ry E(Y|9) = X -E(Y|9);
(3) #RK, X X & G-n[ E’JjFﬁlBﬁ*ﬂEE,
X = Z L , ¥Ym >0,

om { g <X <%
W {X,.} %ﬂkﬁ%ﬁ&ﬂﬁiﬁm&%é X X &Y A5, W XY 1+ XY, N 2R
TS SoE B
E(XY]9) = lim E(X,Y|9) = lim X, -E(Y|¥) = X -E(Y]9);

B, &Y =Y+ - ,/\EPY+Y >0, DHH%

E(XY|¥9) =EXY*|9) -EXY|9) =X (EYT¥9)-EY |¥9)) = X -E(Y|9);

4 fJa, W X 2 G-I MK — RN E, & X = X - X, K Xt Y- >0, 6

E(XY|¥4) =E(X'Y|¥9) -E(X Y|9) = (X" - X)) -EY|¥9) = X -EY|9).
ZEA DL B, BAIE(XY|Y) = X -E(Y|9).

ek 0.3 (F). KX € L%(F), 9 C.F AT o-8 WHEZENY € LXY), #H
IX —E(X[9)* < || X - Y|*.



HWERR. WHMERER Y € 22(9), %
E(X — E(X|9))? =E(X — Y +Y — E(X|¥))?

1
=EX -Y)’+EY -E(X|9))*+2-E(X - Y)(Y - E(X|9)). @
EXHE, Y M E(X|9) & 9-nT i, itk Y — E(X|9) & 9-0] 1), A
E[(X -Y)(Y -E(X|9)|¢9] = (Y - E(X|9)) - E(X - Y|¥)
= (Y -E(X]9))  (E(X|9) -Y)
—(Y —E(X|9))*,
BEA
EX Y)Y -E(X]9)) = E{E[(X - Y)(Y - E(X|9)[¢]}
= -E[(Y - E(X|9))*,
(WNENE:
E(X —E(X|9))? =E(X - Y)? -E(Y - E(X|¥4))*
<E(X -Y)?
IR Y = E(X|9), ZEUWH T | X - EX|9)]° < |IX - Y|~ O

R 0.4 (IER). X X € LXF), 9 C.F RF o3, N X-EX|9) 5 L*Y) EX, Lot
&G Y € LAY, HH
(X —E(X|9),Y) =0.
MERR. AR Y A& g-mr i, 0
E(X -E(X]9))-Y|9] =Y -E(X - E(X|9)|9)
=Y (E(X|9) - E(X]9))
=0,
PRt
E[(X - E(X|9))-Y] =E{E[(X - E(X|¥)) - Y|9]} =
R T (X —E(X]9),Y) =0. O

Hit. X X c LXF), Y C.FRT o-3¥, N
(X —E(X|9),E(X|9)) =

HERR. VEEE| E(X|9) € £%(9) RITT. O

WIS (AR, % X € LUF), Y C.F RF o, N
IXI? =X - EX9)|I” + |E(X|9)]*
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MERR. B iR, i1
IIXH2=HX—E(X|54 E(X|9)|?
= (X -E(X|9) + E(X|9), X - E(X|¥9) + E(X|9))
= [|X —~E(X|9)|* + [E(X]9)*| +2- (X - E(X]9),E(X|¥))
= [|X - EXI9)|* + [E(X|9)]?,
He (X —E(X|9),E(X|9)) = 0. O

WiL. R X € LXF), 9 CF AT o-B N X -EX|9) 5 L(Y) £, LRPEZ
Y € LAY, #AH
(X —E(X|94),Y) =0.

BTS2, E(|9) R L2(F) 8] L29) MEZREET

15 0.1. 7£ SN a] R AR, 25 O { X, Xy, - -+, Xp b, FETIN Xy, IR, 38513
Xr(k) = argminE(XT+k — g(Fr))?,
Hh 70 = 0(X1, Xy, -+, Xp), g 5& Fp-1 TuﬂJB’J . R Bk, ATE 5152
Xr(k) = E(Xrn| Fr).
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